RELEASE ER2022_02_02

INSTRUCTION MANUAL
FALSE CEILING TRIM KIT (FCK)

ORIGINAL INSTRUCTIONS IN ITALIAN LANGUAGE
Translation into English language

This document is property of Euroscreen Srl.
Any distribution, reproduction, copying or publication of this document is prohibited.



20 20 2e0ed3 3Svaad



RELEASE ER2022_02_02

INDEX

COMPONENTS INSIDE THE PACKAGING - FCK COMPACT page. 4
COMPONENTS INSIDE THE PACKAGING - FCK MAJOR page. 5
DIMENSIONS - FCK COMPACT page. 6
DIMENSIONS - FCK MAJOR page. 7
ASSEMBLING - FCK COMPACT / MAJOR page. 8
MOUNTING TO THE CEILING - FCK COMPACT / MAJOR page. 9

MOUNTING THE SCREEN ONTO THE FCK

page.

11




COMPONENTS INSIDE THE PACKAGING

FCK COMPACT

When you open the packaging, please CHECK that it contains ALL the components below.
In case, one or more components are missing, please refer to the dealer you purchased the product

from.

A h Pcs. 01 ¢ |Pes. 02 h
V\?hlte Ionﬁ; “L” form profiles W%ite “C” form support V\?hite structural “C” form
pre-punc! supports

- /L o J
Pcs. 02 h h
D V\ﬁﬁte side doors E V\ﬁute mounting plate “1” F V\ﬁnte mounting plate “2”
screen housin 3 screen housin 8
N AN
Pcs, 02
G Ceﬁing mounting plates H
(&)
NS/
- AN N J
h Pcs. 08 Pcs. 04 h
J K Flat washers 025x2 M8 L Button head screws
M4x12mm.
& %
N A~

N AN - J
Pcs. 06 h Pcs. 10

M Countersunk flat head N Seﬁ-blocking nuts M4
screws M4x10mm

NG ®

N AN

RELEASE ER2022_02_02

This document is property of Euroscreen Srl.

Any distribution, reproduction, copying or publication of this document is prohibited.



COMPONENTS INSIDE THE PACKAGING
FCK MAJOR

When you open the packaging, please CHECK that it contains ALL the components below.
In case one or more components are missing, please refer to the dealer you purchased the product
from.

N\ N\ N\
Pcs. 0 Pcs. 02
A V\?hlte Ionﬁ; “L” form profiles B W%ite JC" form support ¢ V\fhite structural “C” form
pre-punc! supports
- 2N J/
Pcs. 02 A N N
D V\ﬁﬁte side doors E V\ﬁme mounting plate “1” F V\ﬁnte mounting plate “2”
screen housin 3 screen housin 3

Pcs, 02
Ceﬁing mounting plates

- J
Pcs. 08 h Pcs. 04 A Pcs. 04 A
J Flanged nut M8 K Flat washer 025x2 M8 L Button head screw
M4x12
N
\\_‘-y) N
- AN J J
Pcs. 06 A Pcs. 10 A
M Countersunk flat head screws| N Seﬁ-blocking nuts M4
M4x10mm.
NG ®
|\ AN J
This document is property of Euroscreen Srl. *

RELEASE ER2022_02_02

Any distribution, reproduction, copying or publication of this document is prohibited.



RELEASE ER2022_02_02

DIMENSIONS - FCK COMPACT

FRONT VIEW FCK COMPACT

10| 118 A ns 10
22 22
=
Qo
ME: g
M) C
© |.E ‘“
= >
@ o ol o | o o @
<
™
| : o I
™
30 F 140 3 3 170 T
SIDE VIEW FCK COMPACT
FIXING POINTS DIMENSIONS OF CEILING MOUNTING PLATE
100
A (mm) B (mm)
9 82 9
o COMPACT PROFESSIONAL Width of Viewing Area + 115 82
— (Without borders)
i —— COMPACT HOME CINEMA ) i
© 19 19 (With side borders of 50 mm) Width of Viewing Area + 215 82
@ COMPACT TENSIONED Width of Viewing Area + 405 82
= 6
6
P =3 DIMENSIONS HOLE IN FALSE CEILING
5 5 (/ @ \\ 5
() —o >
@ TRA ///) L (mm) P (mm)
{ =~ ] COMPACT PROFESSIONAL ) .
[ L | (Without borders) Width of Viewing Area + 370 130
18] 130 13 COMPACT HOWE CINEMA : —
= i T (With side borders of 50 mm) Width of Viewing Area + 470 130
- 8 - COMPACT TENSIONED Width of Viewing Area + 660 130

a
(o]

TOP VIEW CEILING
MOUNTING PLATE

HOLE IN FALSE CEILING
AND FIXING POINTS CEILING

100 L
9 82 9 _
o . (ﬂ X X e \o o ﬁrm ‘
2% © 9 {8 : .
9] = A =

This document is property of Euroscreen Srl.
Any distribution, reproduction, copying or publication of this document is prohibited.

All measures are expressed in millimeters



DIMENSIONS - FCK MAJOR

FRONT VIEW FCK MAJOR

L
10 118 A 118 10
22 25
[Immi .
~1
AL 3
x [
© |.E =
==~ 2
p! Il Iy ol o | 1o 'y @
—
[T9)
=Y ™
2 .3 |- . . .
™
& 140 3 3 170 T

SIDE VIEW FCK MAJOR

FIXING POINTS DIMENSIONS OF CEILING MOUNTING PLATE

100 A (mm) B (mm)
9 82 9 MAJOR PROFESSIONAL ) o
o (Without borders) Width of Viewing Area + 130 82
o o 1 34 m#g?elzgﬂi (O:fl_lgoE nllf;: ) Width of Viewing Area + 230 82
% MAJOR TENSIONED Width of Viewing Area + 422 82
3
>| 6 6
" DIMENSIONS HOLE IN FALSE CEILING
o Sl 77 ™\ \[&2
3 o > L (mm) P (mm)
t‘ }\\__//// m#gfb’;zgSESS'ONAL Width of Viewing Area + 385 160
L L i MAJOR HOME CINEMA . .
13 ‘ 160 13 (With side borders of 50 mm) Width of Viewing Area + 485 160
f MAJOR TENSIONED Width of Viewing Area + 677 160
~47 | ~139
TOP VIEW CEILING HOLE IN FALSE CEILING
MOUNTING PLATE AND FIXING POINTS CEILING
100 L
9 82 9
1l
" ((] ﬁ v ﬁ N ¢7N ' +
o o o o |0
- FU® O PR — .
\ A v m
g R =

RELEASE ER2022_02_02

This document is property of Euroscreen Srl.
Any distribution, reproduction, copying or publication of this document is prohibited.

All measures are expressed in millimeters



ASSEMBLING - FCK COMPACT / MAJOR

- Check that the parts B and C are exactly perpendicular to part A.
- Take care to fix part L with N so that D can be rotated.

[e
—
[
r—
[o

* This document is property of Euroscreen Srl.
Any distribution, reproduction, copying or publication of this document is prohibited.

RELEASE ER2022_02_02



MOUNTING TO THE CEILING - FCK COMPACT / MAJOR

‘ Hole to be drilled in the upper ceiling }—0U

- The installer has to choose
suitable plugs (NOT SUPPLIED) |

for the fixing of the ceiling Plug notsupp"ed}_g |

mounting plates onto the upper
ceiling.

- Before mounting the parts onto
the ceiling, cut the threaded rods
to the desired length.

(see p.8 regarding minimum and
maximum lenght of the rods)

This document is property of Euroscreen Srl. '9
Any distribution, reproduction, copying or publication of this document is prohibited.

RELEASE ER2022_02_02



RELEASE ER2022_02_02

In order to fix the threaded rods (I) to the ceiling mounting plates (G), screw a bolt (H) for at least

20 mm. To the top part of the threaded rod.
Screw the threaded rods in the ceiling mounting Plates, making sure that the thread is inserted
amp the bolt tightly.

through all the depth of the plate (10mm). Then, ¢

Take the preassembled FCK and lift it up inserting
the threaded rods onto the structural "C" form
supports (C) and screw the washers (K) and the
flanged nuts (J).

Verify that the bottom part of the FCK is perfectly leveled. A
non leveled installation of the FCK will cause bad functioning
of the projection screen.

Max 40
Min 15

O
[¢]

Y
o

This document is property of Euroscreen Srl.
Any distribution, reproduction, copying or publication of this document is prohibited.



MOUNTING THE SCREEN ONTO THE FCK

COMPACT AND MAJOR SCREE

Before you proceed with mounting the screen, fix the mounting plates (E) and (F), a
indicated in the drawing below.

It is IMPORTANT to mount the right plate to the right side.

2 PLEASE TAKE CARE THAT MOSUNTING STEPS ARE THE SAME BOTH FOR

Before fixing the screws, check that the mounting plates (E) and (F) are positioned towards the end
of the screen housing.

rl:low fix the all the screws tightly and check that both mounting plates are firmly fixed to the screen
ousing.

This document is property of Euroscreen Srl. '1
Any distribution, reproduction, copying or publication of this document is prohibited.

RELEASE ER2022_02_02



ht side doors (D)

K'in vertical pos‘cftion.

en the left and ri

£e

Now o
of the

This document is property of Euroscreen Srl
Any distribution, reproduction, copying or publication of this document is prohibited.

(o]
\ 4

20 20 ¢g0egH3 3Sv313d



RELEASE ER2022_02_02

Lift u? the screen housing inside the FCK, taking
care that the holes of the screen mounting plates
(E()j and (F) are positioned under the threaded
rods.

This document is property of Euroscreen Srl.
Any distribution, reproduction, copying or publication of this document is prohibited.



Fix the screen mountln?hplates to the
threaded rods by using the nuts (J) for
each threaded rod at each side.

Before tightening the nuts, please check that the housing is perfectly centered with the FCK.
Now, tighten firmly the flanged nuts.

RELEASE ER2022_02_02

a
IS

21

I

(]

)

This document is property of Euroscreen Srl.
Any distribution, reproduction, copying or publication of this document is prohibited.



RELEASE ER2022_02_02

Now you can make the electric

al

connection of the screen motor and close
the side doors.

This document is property
Any distribution, reproduction, copying or publ

of Euroscreen Srl.
lication of this document is prohibited.



